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Amirhas 5 different colns in his wallet,

What s the greatest amount of money he
could haven hiswallef?

What s the least amount of money?

White
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Whitney thinks that she has £10 and 3 p.
Is she correct?

Explain your answer.
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Dora bought these muffins. White

et

Mutfinscost 35 p each.
How much did Dora spend?

Tommy bought two fimes as many mufins as Dora.
How many muffins did Tommybuy?
How much money did Tommy spend on muffins?.
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Rosie hos £5
Has she gof enough money 1o buy @ car and two apples?.

~
£3and35p
£2and 55p
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What combinations of items could Rosie buy with £57
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Amirhas £4. He buys a penciland a book. How much change willhe get?

Whichbar model willhelp you answer the question?

Explain how you know. N
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Challenge: Can you use fhe bar model 1o work out how much change Amir will
gete




